2017 (8S) Rell No:
INTERMEDIATE PART-1I (12" CLASS)
BUSINESS MATHEMATICS & STATISTICS (NEW SCHEME) (SESSION 2015-2017)
PAPER-II (COMMERCE GROU P}
TIME ALLOWED: 1.45 Hours SUBJECTIVE MAXIMUM MARKS: 40
NOTE: - Write same question number and its part number on answer boeok,
As given in the question paper,

SECTION-I

2, Attempl any six parts, 6x1=12
(i) Dicfine Statistics,
(i)  Define Continuous Variable with exam ple,
(il What is meant by Primary Data?

(iv)  Differentiate betweea Sample and Population,
(v Define Class Interval with example.

(vi)  Define the term Classification,

(vil)  How a Simple bar chart is constructed?

(vill) Define Median.

(ix)  Write down the demerits of Arithmetic Mean.

k3 Attempt any six parts. bx2=12
{1 I ¢=15 n=10; XD =25, thenfind 3.
(i) Deseribe any two merits of Arithmetic Meun.
(iii)  Find the mode of 12, a6, 38, 12, 27,318 38,
(1v)  Define Link Relatives,
(v} Why link relatives converted 1o chain relatives?
(vi)  Give L py =1230 and T o.g, = 1600 then find current vear weighted index number
(vil)  What is Sure Event?
(virl)  Define Independent Event.
(ix) I 4 and B are two independent events such that P(4) =02 and P(B) = 0.15
then find P(ANB)= ?
SECTION-II
NOTE: - Attempt any two questions,

4.it)  Prepare a trequency distribution from the tollowing data taking

Classesae ) 337 79179 . 4

4.1 X 32 4.2 an DS 42 48 4.1
43 44 43 38 42 47 28 37 49
46 3.3 3.7 2.6 2.7 4.7 41 4.2 4.6
4.1 49 37 45 39 a7 40 29 4.7 |
36 29 32 %3
(b)  Find the made from the following data:- _ 4
Masses (kg) | 60-64 6569 | 7074 [ 75-79 | 80 -84 | 85 0
No.ofboys | 2 6 12 14 10 6
S.4a)  Find Arithmetic Mean by using Coding Method. 4
Classes | 1-2 | 34 |5-6|7-8[9-10
¥ | | k! 5 4 2
(b)  Compule weighted aggresated index numbers of prices hy 4
(i} Laspeyre’s Method (i) Paasche's Method
2003 (Rase) | 2004
Artiele Quantity | Price Quantity | Price
Wheat 56 170 63 | 175
| Rice 33 200 76 175
| Sugar 64 190 93 200 |
Ghee 13 10 | 27 LR
6.(a) I we draw a single card from a pack of 52 playing cards. Find the following ]JTDbﬂE‘iliiiE‘ij- 4
(1)Card is black (i) Picture card  (iii) Card is king  (iv) Black queen
(b} Iwe thiow two coins, find the probability that:- 4
(1) Zerp head occur (1i) At least on head occur

89-2017(53-100 (MULTAN)




I?aper Code ;
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| Number: 4641 INTERMEDIATE PART-II (12" CLASS)

BUSINESS MATHEMATICS & STATISTICS (NEW SCHEME) (SESSION 2015-2017)
PAPER-II (COMMERCE GROUP)

TIME ALLOWED: 15 Minutes OBJECTIVE MAXIMUM MARKS: 10

Note: You have four choices for each objective type quesiion as A, B, C and D, The chuice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles,
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question va this sheet of OBJECTIVE PAPER,

Q.No.1

{1}  The data collected from published reports is known as:-

(A) Discrete data  (B) Arranged data () Secondary data (D) Primary data
(2} Thenumber of rally sheet count for each value ar a group is called:-

(A)Frequency  (B) Class limit {C) Class width (D) Class boundary
(3} The number of classes depends upon:-

(A) Class marks  (B) Freguency (C) Class boundary  (13) Class interval

{4} Ihe sum of the deviations taken from means is:-

(A Always equal 1o zero (B) Some times equal to zero
() Never equal to zero (13} Less than zero
() Ilthe arithmetic mean of 20 values is 10, then the sum of these 20 values is:-
(A) 10 (B) 20 (C) 200 (M) 20+ 10
| {6) I the data containg an extreme value, the suitable averags is:-
(A) Mean (B} Median (€)1 Weighted Mean (D) Mode
{7} Index numbers can be used for:-

(A) Forecasting (B} Fixed Prices (C} Ditterent Prices (D} Censtant Prices
(B) Laspeyre's price index number is also called:-
(A) Simple agpregalive index (B) Cost of living index
{C} Current year weiphtad (D) Base year weighted
(%) A measure of the chance that an uncertain event will occur:-
{A} An experiment (B} An event (C) A probability (D} A Trial
(10) If three coins are tossed, the possible cutcomes are:-

(A) B (B) 3 K 1 (D) None of these
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2017 (S) Roll No:
INTERMEDIATE PART-II (12" CLASS)

BUSINESS MATHEMATICS & STATISTICS (OLD SCHEME) (SESSION 2012-2014)

PAPER-11 (COMMERCE GROUP) TIME ALLOWED: 2.10 Hours
SUBJECTIVE MAXIMUM MARKS: 60
NOTE: - Write same question number and its part number on answer book,

(i)
(i)
(iii)
(iv)

()

(vi}
(vii)
(viii)

(ix)

i)
(i)
(iii)
{iv)
{v)
{¥i)
(vii)
(wiil)

(ix)

(1
(1)
(iii)
(iv)
(v}
(vi)
(vii)
(viil)

(1x)

us given in the question paper.

SECTION-I
Attempt any six parts. 6x=2=12

What is Secondary Data?

Give two sources of Secondary Data.

Define attribute by giving examples.

What 1s empirical relationship among Mean, Median and Mode?

For a certain frequency distribution, the value of mean is 15 and median is 20,
What will be the value of mode?

Iind mode of word * STATISTICS™.

Give merits of Arithmetic mean.

Define Mode with example.

Find Median of the data, 5,6, 9, 5,4, 3,8, 7., 6.

Attempt any six parts, 6x2=12

Define Continuous Variable.

Define Types of Data by its source,

What 15 Editing of Data?

Name the methods of collecting Primary Data.

What do you understand by base period and how it is selected?
Laspeyres index = 115, Fisher’s index = 112.98 find Paasche’s index.
Define Composite Index Number,

Write the Formula given by Fisher.

Given Epyq, =352, Ipg, =422, Ipg =402, Ipg, =481 thenfind (i) Base year
weighted 1. No (i) Current year weighted Index No.

Attempt any six parts. 6x2=12

Define Statistics in Singular Sense,

What do you mean by Census?

Write two formats for the presentation of Data (only name).

Explain Classification and Tabulation.

Wrile Sample Space when three coins are tossed.

Define Mumally Exclusive Events.

Differentiate between Simple Event and Compound Event.

If “A and B" are independent events and  #(4) = 062, P(B)= 044 find P(4B).

Define Random Experiment.

P.T.O.




(2)

SECTION-11
NOTE: - Attempt any three questions.

5.(a) Marks obtained by 50 students of a class are piven below. %
23 50 IR 42 a3 i< 12 a3 26
19 35 47 43 52 56 59 64 7 15
21 51 54 72 68 36 65 52 60 27
34 47 48 55 S8 59 62 51 48
50 41 27 65 54 43 56 44 30
46 67 33
Makes a frequency distribution using the classes as 10-19, 20-29etc.

(b) Muke the histogram of the frequency distribution in part (&). 4
6.{a) Calculate arithmetic mean for the following data by using Direct method. 4
“Tncome | 35-39 | 40-44 | 45-49 | 50-54 [ 55-59 | 60-64 [ 65-69 |
i 13 E % | E B i
(h) The average marks obtained by the students of 3 Sections in Maths class are given below.
Find Combined Mean. 4
' Section No. of students | Average marks |
A 50 75 |
B 75 ' 62
C — a0 68

7.(a) The class marks for the ages of sales clerks employed in a departmental siore are:- 18.5, 28.5,
IR.5, 48.5, 58.5 and 68.5. Find class boundaries of this distribution and compute median il the
if the class frequencics are 7, 12, 23, 35, 25 and 8 respectively. 4

(b) Find mode for the values, 4
()6, 3, 5, 2,5, 4 B % 6
i 1, 3 4, 7, 9 10, 11, 13, 14, 16

§.(a) Compurte the Chain Indices fro the following data for 1974 to 1979, 4
b Year Prices
1974 18
1975 19
1976 25
1977 : 1
y 1978 28 ,
| 1979 32 |
(b) Construct Index number of prices for year 1990 taking 1985 as base vear by Paasche’s method. 4
' Prices Quantity N
ltems | 1985 [ 1990 1985 | 1990
A : 6() 80 2 3
B 40 45 4 2 |
e 20 25 3 4
D | 85 70 1 2 |

9.(a) A pair of fair dice is rolled. Make a sample space. Find the probability that
(i) Their sum is 9 (it} Their sum is at least 10, 4

(b) A bag contains 6 white, 4 red and 4 black balls. 3 balls at random are drawn from the bag.
Find the probability that all three balls drawn are.
(i) of same color (i) of different colors. , -
20-2017(4) | D0 (MULTAN)
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OBJECTIVE MAXIMUM MARKS: 15
Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correet, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,

Q.Nuo.l
(1) Data classified by attributes is called:-

(A) Qualitative (B) Quantitative (C) Discrete {13y Continuous
(2) The grouped data is also called:-
(A) Raw data (B) Primary data (C) Secondary data (D) Qualilative data
(1) The data collected from an individual is called:-
(A) Secondary data (B) Primary data (C) Grouped data (D) Raw data
(4) The classification of data according to regions or locations is ~~ ¢lassification.
(A) Qualitative {B) Geographical (C) Time series (I None of these
(5) The part of table containing row captions is called:-
(A) Stub (B) Body (C) Box head (D) Title
(6)  Total ol relative frequency is always:- |
(A) One (B3) Two (C) Hall {13} Quarter ‘
(7)  [f mean of 10 ohservations is 60, then surm of observations is:- |
(A Zero (B) 100 (C) 600 (D) - 30 |
(8)  Mode is graphically located by:- |
(A) Ogive (B) Histogram (C) Pie-chart (D) None of these
(%) __ averape cannot be less than zero.
(A AM, (B) G.M. (C) weighted mean  (I3) Median
(10} The base year should be:-
(A) First year (B) Last vear (C) Normal year (D) None of these
(11} In fixed base method which period is always taken as 100:-
(A) Preceding (B) Following (C) Base (D) Current
(12)  When all the values are of equal importance, then index number is called:-
{A) Simple (B) Un-weighted (C) Weighted (D) Cost of living
{13) The probability of an event cannot be:-
(A) =0 @) <0 (C) >0 () =1
{14)  The probability of impossible event is equal to:-
(A) Zero (B) One (C)035 (D) None of these

(15) If'a coin is tossed thrice then the probability of 3 head is:-

7 !
A S 1
(A) 0 &) 2 © 3 ()

89(0b)-2017(5)- [ 30 (MULTAN)
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